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Time : 3 Hrs.
2017 (Odd)

Sem-I / II
C.S - I

Full Marks : 70
Pass Marks : 28

PTO

There are two parts in the question PART-I (ENGLISH) & PART-II (HINDI)
iz’Uk esa nks [k.M gS [k.M& I (vaxzsth)  ,oa [k.M& II (fgUnh)

Answer 16 Questions  from Part-I and 4 Questions from Part-II , ofGroup-A, each question carries 1 mark.
xzqi&A ds [k.M& I  ls 16 rFkk [k.M& II ls 4 iz’uksa ds mÙkj nsa]

izR;sd iz’u dk eku 1 vad gSA

Answer 4 Questions  from Part-I and 1 Questions from Part-II , ofGroup-B, each question carries 4 mark.
xzqi&B ds [k.M& I ls 4 rFkk [k.M& II ls 1 iz’u ds mÙkj nsa] izR;sd

iz’u dk eku 4 vad gSA

Answer 3 Questions  from Part-I and 2 Questions from Part-II , ofGroup-C, each question carries 6 mark.
xzqi&C ds [k.M& I ls 3 rFkk [k.M& II ls 2 iz’uksa ds mÙkj nsa]

izR;sd iz’u dk eku 6 vad gSA

All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

,d iz’u ds lHkh va’kks dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk
pkfg,] vU;Fkk os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks
nk,¡ ikÜoZ ds vad iw.kkZ ad ds lwpd gSaA



PART-I (ENGLISH)
GROUP-A

1. Choose the most suitable answer from the following options.
¼lokZf/kd mi;qZDr fodYi dks pqudj fy[ksa %& 16x1=16
(i) The Verb - Form used in case of Passive Voice is :

(a) V 1

(b) V 2

(c) V 3

(d) V 4

(ii) The structure of a Negative Question in the Past Perfect
Tence is :
(a) Has / Have + S + V 3

(b)  Had + S + Not + V 3

(c) Had + S + V 3

(d) All the above
(iii) The structure of an Active Sentence is :

(a) V1 + O
(b) S + V + O
(c) O (in the Nominative case) + H.V.+V3+Preposition

+ S (in the Objective Case
(d) All of these
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(iv) The synonym of the word 'kind' is :
(a) Humane
(b) Cruel
(c) Callous
(d) Unjust

(v) The Verb - form of the word 'Force' is :
(a) Force
(b) Enforce
(c) Both (a) and (b) above
(d) None of these

(vi) The Adjective - form of the Word 'Brass' is :
(a) Brassy
(b) Brazen
(c) Both (a) and (b) above
(d) None of these

(vii) A Noun is a :
(a) Naming word
(b) Qualifying word
(c) Modifying word
(d) All of these



(viii) The Word 'Oh' is :
(a) Preposition
(b) Conjunction
(c) Interjection
(d) Adverb

(ix) Which one of the following sentences bears a correct
Question Tag :
(a) I am a technical student, amn't I ?
(b) I am a technical student, am I ?
(c) I am a technical student, aren't I ?
(d) I am a technical student, are I ?

(x) The sentence having an incorrect preposition is :
(a)  Please Write it in ink.
(b) This book belongs from the college library.
(c) He paid no attention to What his father said to him
(d) The big building was on fire.

(xi) The machine that measures atmospheric pressure is
called :
(a) Glucometre
(b) Thermometer
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(c) Barometer
(d) None of these

(xii) In case of Direct Speech, the statement of the speaker is
reported :
(a) Having Exactly the same content and style.
(b) Using changed style as per grammatical rules.
(c) Having altogether different content and style.
(d) All of these.

(xiii) A sentence in the Passive Voice is known as :
(a)  Passive Sentence
(b) Moderate Sentence
(c) Active Sentence
(d) All of these

(xiv) 'Do not touch this rod, lest you (burn) your fingers. The
Correct Verb - Form to be used in place of the bracketed
Verb is :
(a) May not burn
(b) Should burn
(c) Should not burn
(d) Must burn.
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(xv) Which of the following sentences is correct from articles'
point of view :
(a) Do not go out otherwise you may catch a cold.
(b) The Water is essential for the life.
(c) The humanity is in peril today.
(d) The man is a social animal.

(xvi) 'The' is :
(a) Indefinite Article
(b) Non- definite Article
(c) Definite Article
(d) Not an Article

GROUP-B
Read the following passage carefully and then answer the
questions that follow:           4x4=16

2. Oil is one of the world's major sources of energy. We depend
on it as fuel for heating, transport and the generation of power.
For centuries, animal and vegetable oils have been used for
cooking and as a source of artificial light. But it is mineral Oil

which meets most of the world's needs today.
Crude Oil comes out of the earth as a thick brown or black

liquid with a strong smell. It is a complex mixture of many
different substances, each with its own different qualities. Most
of them are combinations of hydrogen and carbon in varying
proportions Such hydrocarbons are also found in other forms
eg, in beitumen, asphalt and natural gas.

Mineral Oil originates from the carcasses of tiny creatures
and from plants that live in the sea. Over million years, they
form large deposits on the seabed, and ocean currents cover
them with a blanket of sand and silt. As this material hardens, it
becomes sedimentary rock and thus shuts out the oxygen. As
a result, it prevents decomposition of the marin deposits
underneath. The layers of sedimentary rock become thicker
and thicker. Their pressure generates heat, which transforms
the marine deposits into crude oil. This is a continuing process
which is still going on today.
(a) Describe the uses of different oil      4
(b) What do you understand by crude oil? What are hydro-

carbons ?      4
(c) How is a sedimentary  rock formed ?
(d) What type of  process is the crude oil formation ? In what

way does the sedimentary rock help in the transforma-
tion of Crude oil ?                         1 + 3 = 4
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GROUP-C
Answer all three questions.           6x3=18
3. What do you understand by Direct Speech and Indirect speech?

Give apt examples for both terms.      6
OR (vFkok)

Write a paragraph in about 300 words  on 'Advantages of
internet '  OR '  Changing Patterns of  Teacher- Student
Relation'. 6

4. Define Pronoun and Adverb giving two examples for each one.
6

OR (vFkok)
Discuss three important usages of simple Present Tense. Do
also give two examples for each one of the rules. 6

5. Discuss the characteristics of a good Paragraph. 6
OR (vFkok)

Define Synonym and Antonym. Differentiate using suitable
examples.

PART-II (HINDI)
xzqi-A

(xvii) ^bZ'oj* 'kCn dk i;kZ;okph fuEu esa ls dkSu&lk 'kCn gS%&
              (v) prqj

(c) fo}ku

(l) nsork

(n) lk/kq

(xviii) fuEu esa 'kq) okD; dk p;u djsa&

¼v½ eSus ekU;uh; eq[;ea=h th dks f'kdk;rh i= Hkstk Fkk] ij

    iz;kl fu"Qy jgk A

¼c½ ̂ jkepfjrekul* izk;% lHkh Hkk"kkvksa esa vuqokfnr fd;k tk

    pqdk gSA

¼l½ 'khyk th dq'ky usrk gksus ds lkFk cgqr fo}ku Hkh gSaA

¼n½ nq?kZVuk LFky ij HkhM+ tek FkhA

(xix) milxZ ;qDr 'kCn gS %&

¼v½ p<+kok & p<kbZ

¼c½ vkgkj & fogkj

¼l½ Hkqyok & Nykok

¼n½ Mqcrk & cgrk

(xx) ljdkjh i=ksa esa fuEu esa D;k vuko';d gS %&

¼v½ Li"Vrk ,oa 'kq)rk

¼c½ Øec)rk

¼l½ laf{kIrrk

¼n½ O;fDrxr 'kSyh
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 fuEukafdr iz'uks dk mÙkj nsaA 4
6. ^ekuoh; gLr{ksi dk izd`fr ij iM+rk nq"izHkko* fo"k; ij 200

'kCnks a esa ,d vuqPNsn fy[ksaA

OR (vFkok)
^Hkkjr dk iM+kslh nsa'kks a ds lkFk laca/k% ,d fo'ys"k.k fo"k; ij

200 'kCnks a esa ,d vuqPNsn fy[ksaA

xzqi-C
 lHkh nks iz'uks ds mÙkj nsaA 6x2=12
7. ljdkjh i= dh nks fo'ks"krkvksa ij izdk'k xyrs gq, v)Zljdkjh

i= ls vUrj Li"V djsaA 6
OR (vFkok)

ouLFkyh fo|kih<] ouLFkyh] t;iqj dh v/;{kk dks dEI;wVj

izksxzkej ds in ij fu;qfDr gsrq viuh mez 'kS{kf.kd ;ksX;rk ,oa

vuqHko dk mYys[k djrs gq, vkosnu&i= dk izk:i rS;kj

dhft,A 6
8. Hkkjr vkSj tkiku dh chp jktuf;d laca/k LFkkfir gksus ds

laca/k esa ,d izsl foKkfIr dk izk:i rS;kj djsaA 6
OR (vFkok)

fuEufyf[kr esa ls fdlh ,d ij fVIi.kh fy[ksa %& 6
¼v½ izsl lwpuk                ¼c½ ck;ks&MkVk

¼l½ dk;kZy; vkns'k                ¼n½ izfrosnu

***


